

Integral Operator of a New Class of Meromorphic Multivalent Functions

Waggas Galib Atshan^{1,*}, Abdul Jalil M. Khalaf², Mohammed Maad Mahdi²

¹Department of Mathematics, College of Computer Science and Mathematics, University of Al-Qadisiya, Diwaniya, Iraq
²Department of Mathematics, Faculty of Mathematics and Computer Science, University of Kufa, Najaf – Kufa, Iraq

Abstract In this paper, we introduce and study a new class of meromorphic multivalent functions defined by integral operator for this class. We obtain coefficient inequality, like, linear combination, distortion Theorem and Hadamard product (or convolution). Further we obtain a (n, δ) -neighborhood of the function $f \in \mathfrak{D}$, and Radius of Starlikeness, Convexity and Close to Convexity.

Keywords Meromorphic multivalent functions, Hadamard product (or convolution), Neighborhood, Starlikeness, Convexity, Close to Convexity

1. Introduction

Let \mathfrak{D} denote the class of functions of the form:

$$f(z) = z^{-p} + \sum_{k=p}^{\infty} a_k z^k, (a_k \geq 0, p \in \mathbb{N} = \{1, 2, \dots\}). \quad (1.1)$$

Which are analytic and meromorphic multivalent in the punctured unit disk $U^* = \{z : z \in \mathbb{C}, 0 < |z| < 1\} = U \setminus 0$. Consider a subclass of \mathfrak{D} of function of the form:

$$f(z) = z^{-p} + \sum_{k=p}^{\infty} a_k z^k, (a_k \geq 0, p \in \mathbb{N} = \{1, 2, \dots\}). \quad (1.2)$$

The Hadamard product (or convolution) of two functions,

$$f(z) = z^{-p} + \sum_{k=p}^{\infty} a_k z^k, \quad g(z) = z^{-p} + \sum_{k=p}^{\infty} b_k z^k,$$

in \mathfrak{D} is defined by

$$(f * g)(z) = f(z) * g(z) = z^{-p} + \sum_{k=p}^{\infty} a_k b_k z^k. \quad (1.3)$$

we shall need to state the extended integral operator for the function belong to the class S which is defined by the following definition.

Definition (1.1) The integral operator of $f \in S$, for $\sigma > 0$ is denoted by I_p^σ and defined as following:

$$I_p^\sigma f(z) = z^{-p} + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1} \right)^\sigma a_k z^k$$

$$(z \in U^*, p \in \mathbb{N} = \{1, 2, \dots\}) \quad (1.4)$$

In particular, when $p=1$, we have

$$I_1^\sigma f(z) = z^{-1} + \sum_{k=p}^{\infty} \left(\frac{1}{k+2} \right)^\sigma a_k z^k \quad (1.5)$$

The integral operator I_p^σ was considered, by Uralegaddi and Somantha [10] more recently, Atshan [3] and Srivastava [9].

Definition (1.2) Let $f \in \mathfrak{D}$ be given by (1.2). Then the class $\zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$ is defined by

$$\zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda) = \left| \frac{\lambda z^2 (I_p^\sigma f(z))' + \lambda(p+1)z (I_p^\sigma f(z))'}{z^2 (I_p^\sigma f(z))' + (\lambda-\alpha)z (I_p^\sigma f(z))'} \right| < \beta. \quad (1.6)$$

For $(0 \leq \beta < 1, 0 < \alpha \leq 1, 0 < \lambda < 1, p, k \in \mathbb{N} = \{1, 2, \dots\}, z \in U^*)$.

Some other subclass of the $\zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$ were studied by Cho et al. [5], Atshan and Buti [4], Altintas et al. [1], Liu [8], Joshi et al. [7], Aouf and Shammaky [2].

2. Coefficients Inequalities

First, in the following theorem, we obtain necessary and sufficient condition for a function f to be in the class $\zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$.

Theorem (2.1) Let $f \in \mathfrak{D}$ be given by (1.2). Then $f \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$ if and only if

$$\sum_{k=p+1}^{\infty} \left(\frac{1}{k+p+1} \right)^\sigma k(\lambda(k+p) - \beta((k-1) + (\lambda - \alpha)ak)) \leq \beta p p + 1 - \lambda - \alpha, \quad (2.1)$$

for $(0 \leq \beta < 1, 0 < \alpha \leq 1, 0 < \lambda < 1, p, k \in \mathbb{N} = \{1, 2, \dots\}, z \in U^*)$

The result is sharp for the function

* Corresponding author:

waggashnd@gmail.com (Waggas Galib Atshan)

Published online at <http://journal.sapub.org/ajms>

Copyright © 2014 Scientific & Academic Publishing. All Rights Reserved

$$f(z) = z^{-p} + \frac{\beta p((p+1) - (\lambda - \alpha))}{\left(\frac{1}{k+p+1}\right)^\sigma k(\lambda(k+p) - \beta((k-1) + (\lambda - \alpha)))} z^k, k \geq p.$$

Proof: -Assume that the inequality (2.1) holds true and let $|z| = 1$, then from (1.6), we have

$$\begin{aligned} & \left| \lambda z^2 (I_p^\sigma f(z))'' + \lambda(p+1)z(I_p^\sigma f(z))' - \beta \left| z^2 (I_p^\sigma f(z))'' + (\lambda - \alpha)z(I_p^\sigma f(z))' \right| \right| \leq 0. \\ & = \left| \lambda P(P+1)z^{-p} + \lambda \sum_{k=p}^\infty \left(\frac{1}{k+p+1}\right)^\sigma a_k k(k-1)z^k - \lambda P(p+1)z^{-p} + \lambda(P+1) \sum_{k=p}^\infty \left(\frac{1}{k+p+1}\right)^\sigma a_k k z^k \right| \\ & \quad - \beta \left| P(P+1)z^{-p} + \sum_{k=p}^\infty \left(\frac{1}{k+p+1}\right)^\sigma a_k k(k-1)z^k - \lambda P z^{-p} \right. \\ & \quad \left. + \lambda \sum_{k=p}^\infty \left(\frac{1}{k+p+1}\right)^\sigma a_k k z^k + \alpha p z^{-p} - \alpha \sum_{k=p}^\infty \left(\frac{1}{k+p+1}\right)^\sigma a_k k z^k \right| \\ & = \left| \sum_{k=p}^\infty \left(\frac{1}{k+p+1}\right)^\sigma a_k k z^k (\lambda(k-1) + \lambda(p+1)) \right| \\ & \quad - \beta \left| \sum_{k=p}^\infty \left(\frac{1}{k+p+1}\right)^\sigma a_k k z^k ((k-1) + (\lambda - \alpha)) + p z^{-p} ((p+1) - (\lambda - \alpha)) \right| \\ & \leq \sum_{k=p}^\infty \left(\frac{1}{k+p+1}\right)^\sigma a_k k [\lambda(k+p) - \beta((k-1) + (\lambda - \alpha))] \leq \beta p((p+1) - (\lambda - \alpha)). \end{aligned} \tag{2.2}$$

Hence, by maximum modulus principle, $f \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$.

Conversely, suppose that $f \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$, then from (2.2), we have

$$\left| \frac{\lambda z^2 (I_p^\sigma f(z))'' + \lambda(p+1)z(I_p^\sigma f(z))'}{z^2 (I_p^\sigma f(z))'' + (\lambda - \alpha)z(I_p^\sigma f(z))'} \right| = \left| \frac{\sum_{k=p}^\infty \left(\frac{1}{k+p+1}\right)^\sigma a_k k z^k (\lambda(k+p))}{p z^{-p} ((p+1) - (\lambda - \alpha)) + \sum_{k=p}^\infty \left(\frac{1}{k+p+1}\right)^\sigma a_k k z^k ((k-1) + (\lambda - \alpha))} \right| < \beta.$$

Since $|Re(z)| \leq |z|$ for all z , we have

$$Re \left\{ \frac{\sum_{k=p}^\infty \left(\frac{1}{k+p+1}\right)^\sigma a_k k z^k (\lambda(k+p))}{p z^{-p} ((p+1) - (\lambda - \alpha)) + \sum_{k=p}^\infty \left(\frac{1}{k+p+1}\right)^\sigma a_k k z^k ((k-1) + (\lambda - \alpha))} \right\} < \beta, \tag{2.3}$$

We can choose the value of z on the real axis, so that $z^2 (I_p^\sigma f(z))''$ and $z(I_p^\sigma f(z))'$ are real, let $z \rightarrow 1^-$, through real values. We get the inequality (2.1). Sharpness of the result follows by setting

$$f(z) = z^{-p} + \frac{\beta p((p+1) - (\lambda - \alpha))}{\left(\frac{1}{k+p+1}\right)^\sigma k[\lambda(k+p) - \beta((k-1) + (\lambda - \alpha))]} z^k, k \geq p. \tag{2.4}$$

The proof is complete.

Corollary (2.2) Let $f \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$. Then

$$a_k \leq \frac{\beta p((p+1) - (\lambda - \alpha))}{\left(\frac{1}{k+p+1}\right)^\sigma k[\lambda(k+p) - \beta((k-1) + (\lambda - \alpha))]}$$

Where $(0 \leq \beta < 1, 0 < \alpha \leq 1, 0 < \lambda < 1, p, k \in \mathbb{N} = \{1, 2, \dots\}, z \in U^*)$

3. Linear Combination

Theorem (3.1) The class $\zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$ is closed convex linear combination.

Proof: - Let each of the functions

$$f_j(z) = z^{-p} + \sum_{k=p}^\infty \left(\frac{1}{k+p+1}\right)^\sigma a_{k,j} z^k \quad (a_{k,j} \geq 0, j = 1, 2, p \in \mathbb{N} = \{1, 2, \dots\}), \tag{3.1}$$

be in the class $\zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$. it is sufficient to show that the function $h(z)$ defined by

$$h(z) = (1 - \epsilon)f_1(z) + \epsilon f_2(z) \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda). \quad (0 \leq \epsilon \leq 1). \tag{3.2}$$

Is also in the class $\zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$, since

$$h(z) = z^{-p} + \sum_{k=p+1}^{\infty} [(1 - \epsilon)a_{k,1} + \epsilon a_{k,2}]z^k, \quad (0 \leq \epsilon \leq 1) \tag{3.3}$$

$$\begin{aligned} & \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda - \alpha))] [(1 - \epsilon)a_{k,1} + \epsilon a_{k,2}] \\ (1 - \epsilon) \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda - \alpha))] a_{k,1} &+ \epsilon \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda - \alpha))] a_{k,2} \\ & \leq (1 - \epsilon)\beta p((p+1) - (\lambda - \alpha)) + \epsilon\beta p((p+1) - (\lambda - \alpha)) \\ & = \beta p((p+1) - (\lambda - \alpha)) \quad \left(0 \leq \alpha < p, \lambda \geq \frac{1}{p+1}, p \in \mathbb{N} = \{1, 2, \dots\}, n \in \mathbb{N}_0, 0 \leq \epsilon \leq 1\right) \end{aligned} \tag{3.4}$$

Which show that $h(z) \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$. The proof is complete.

4. Neighborhoods

Definition (4.1) Let $(0 \leq \alpha < 1, \lambda > -p, 0 \leq r \leq 1, p \in \mathbb{N} = \{1, 2, \dots\}, \delta \geq 0)$. We define the δ – neighborhoods of a function $f \in T_p$ and denote $N_{\delta}(f)$ such that

$$N_{\delta}(f) = \{g \in H: g(z) = z^{-p} + \sum_{k=p}^{\infty} b_k z^k,$$

and

$$\frac{\sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda - \alpha))]}{\beta p((p+1) - (\lambda - \alpha))} |a_k - b_k| \leq \delta. \tag{4.1}$$

Goodman [6] and Liu [8] have investigate neighborhoods for analytic univalent function we consider this concepts for the class $\zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$

Theorem (4.1) Let the function $f(z)$ defined by (1.1) be in the class $\zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$, for every complex number μ with $|\mu| < \delta, \delta \geq 0$. Let $\frac{f(z) + \mu z^{-p}}{1 + \mu} \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$, then $N_{\delta}(f) \subset \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda), \delta \geq 0$,

Proof:- Since $f \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$, f satisfies (1.6) and we can write for $\gamma \in \mathbb{C}, |\gamma| = 1$, that

$$\left| \frac{\lambda z^2 (I_p^{\sigma} f(z))'' + \lambda(p+1)z (I_p^{\sigma} f(z))'}{z^2 (I_p^{\sigma} f(z))'' + (\lambda - \alpha)z (I_p^{\sigma} f(z))'} \right| \neq \gamma. \tag{4.2}$$

Equivalently, we must have

$$\frac{(f * Q)(z)}{z^{-p}} \neq 0, z \in U^*, \tag{4.3}$$

Where $Q(z) = z^{-p} + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} e_k z^k$,

Such that

$$e_k = \frac{\gamma \left(\frac{1}{k+p+1}\right)^{\sigma} k(\lambda(k+p) - \beta((k-1) + (\lambda - \alpha)))}{\beta p((p+1) - (\lambda - \alpha))}$$

Satisfying

$$|e_k| \leq \frac{\left(\frac{1}{k+p+1}\right)^{\sigma} k(\lambda(k+p) - \beta((k-1) + (\lambda - \alpha)))}{\beta p((p+1) - (\lambda - \alpha))}$$

Since

$$\frac{f(z) + \mu z^{-p}}{1 + \mu} \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda),$$

By (4.3)

$$\frac{1}{z^{-p}} \left(\frac{f(z) + \mu z^{-p}}{1 + \mu} * Q(z) \right) \neq 0. \tag{4.4}$$

Now assume that

$\left| \frac{(f * Q)(z)}{z^{-p}} \right| < \delta$. Then, by (2.3), we have

$$\left| \frac{1}{1 + \mu} * \frac{(f * Q)(z)}{z^{-p}} + \frac{\mu}{1 + \mu} \right| \geq \frac{|\mu|}{|1 + \mu|} - \frac{1}{|1 + \mu|} * \left| \frac{(f * Q)(z)}{z^{-p}} \right| > \frac{|\mu| - \delta}{|1 + \mu|} \geq 0.$$

That is a contradiction as $|\mu| < \delta$. Therefore

$$\left| \frac{(f * Q)(z)}{z^{-p}} \right| \geq \delta.$$

Letting

$$g(z) = z^{-p} + \sum_{k=p}^{\infty} b_k z^k \in N_{\delta}(f).$$

$$\begin{aligned} \text{Then } \delta - \left| \frac{(g * Q)(z)}{z^{-p}} \right| &\leq \left| \frac{(f - g) * Q(z)}{z^{-p}} \right| \leq \left| \sum_{k=p}^{\infty} (a_k - b_k) e_k z^k \right| \leq \sum_{k=p}^{\infty} |a_k - b_k| |e_k| |z|^k \\ &< |z|^k \sum_{k=p}^{\infty} \left[\frac{\left(\frac{1}{k+p+1} \right)^{\sigma} k (\lambda(k+p) - \beta((k-1) + (\lambda - \alpha)))}{\beta p ((p+1) - (\lambda - \alpha))} \right] |a_k - b_k| \leq \delta. \end{aligned}$$

Therefore,

$\frac{(g * Q)(z)}{z^{-p}} \neq 0$, and we get $g(z) \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$, so $N_{\delta}(f) \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$.

The proof is complete.

5. Growth Theorem

Theorem (5.1) If the function $f \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$, then for $0 \leq |z| < 1$.

$$\frac{1}{|z|^p} - \frac{\beta p ((p+1) - (\lambda - \alpha))}{\left(\frac{1}{2(p+1)} \right)^{\sigma} (p+1) [\lambda(2p+1) - \beta(p + (\lambda - \alpha))]} |z|^{p+1} \leq |f(z)| \leq \frac{1}{|z|^p} + \frac{\beta p ((p+1) - (\lambda - \alpha))}{\left(\frac{1}{2(p+1)} \right)^{\sigma} (p+1) [\lambda(2p+1) - \beta(p + (\lambda - \alpha))]} |z|^{p+1} \tag{5.1}$$

The result is sharp and attained for

$$f(z) = \frac{1}{|z|^p} + \frac{\beta p ((p+1) - (\lambda - \alpha))}{\left(\frac{1}{2(p+1)} \right)^{\sigma} [\lambda(1+p) - \beta(\lambda - \alpha)]} |z|^k$$

Proof:- Let $f \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$. Then

$$|f(z)| = \left| z^{-p} + \sum_{k=p}^{\infty} a_k z^k \right| \leq |z|^{-p} + \sum_{k=p}^{\infty} a_k |z|^k \leq |z|^{-p} + |z| \sum_{k=p}^{\infty} a_k.$$

By theorem (2.1), we have

$$\sum_{k=p}^{\infty} a_k \leq \frac{\beta p ((p+1) - (\lambda - \alpha))}{\left(\frac{1}{2(p+1)} \right)^{\sigma} (p+1) [\lambda(2p+1) - \beta(p + (\lambda - \alpha))]}$$

Thus

$$|f(z)| \leq \frac{1}{|z|^p} + \frac{\beta p ((p+1) - (\lambda - \alpha))}{\left(\frac{1}{2(p+1)} \right)^{\sigma} (p+1) [\lambda(2p+1) - \beta(p + (\lambda - \alpha))]} |z|^{p+1}$$

Similarly, we have

$$|f(z)| \geq z^{-p} - \sum_{k=p}^{\infty} a_k |z|^k \geq \frac{1}{z^p} - |z|^{p+1} \sum_{k=p}^{\infty} a_k$$

$$|f(z)| \geq \frac{1}{|z|^p} - \frac{\beta p((p+1) - (\lambda - \alpha))}{\left(\frac{1}{2(p+1)}\right)^\sigma (p+1)[\lambda(2p+1) - \beta(p + (\lambda - \alpha))]} |z|^{p+1}.$$

Hence result (5.1) follows. The proof is complete.

6. Distortion Theorem

Theorem (6.1) If the function $f \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$, then for $0 \leq |z| < 1$.

$$\frac{p}{|z|^{p+1}} - \frac{\beta p((p+1)-(\lambda-\alpha))}{\left(\frac{1}{2(p+1)}\right)^\sigma [\lambda(2p+1)-\beta(p+(\lambda-\alpha))]} |z|^p \leq |f'(z)| \leq \frac{p}{|z|^{p+1}} + \frac{\beta p((p+1)-(\lambda-\alpha))}{\left(\frac{1}{2(p+1)}\right)^\sigma [\lambda(2p+1)-\beta(p+(\lambda-\alpha))]} |z|^p \tag{6.1}$$

With equality for

$$f(z) = \frac{1}{|z|^p} + \frac{\beta p((p+1) - (\lambda - \alpha))}{\left(\frac{1}{2(p+1)}\right)^\sigma (p+1)[\lambda(1+p) - \beta(\lambda - \alpha)]} |z|^{p+1}$$

Proof:- Let $f \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$. Then

$$|f'(z)| \leq \frac{p}{|z|^{p+1}} + \sum_{k=p}^{\infty} k a_k |z|^{k-1} \leq \frac{p}{|z|^{p+1}} + |z|^p \sum_{k=p}^{\infty} (p+1) a_k \leq \frac{p}{|z|^{p+1}} + \frac{\beta p((p+1) - (\lambda - \alpha))}{\left(\frac{1}{2(p+1)}\right)^\sigma [\lambda(2p+1) - \beta(p + (\lambda - \alpha))]} |z|^p$$

On the other hand

$$|f'(z)| \geq \frac{p}{|z|^{p+1}} - \sum_{k=p}^{\infty} k a_k |z|^{k-1} \geq \frac{p}{|z|^{p+1}} - |z|^p \sum_{k=p}^{\infty} (p+1) a_k \geq \frac{p}{|z|^{p+1}} - \frac{\beta p((p+1) - (\lambda - \alpha))}{\left(\frac{1}{2(p+1)}\right)^\sigma [\lambda(2p+1) - \beta(p + (\lambda - \alpha))]} |z|^p.$$

The proof is complete.

7. Radius of Starlikeness

Theorem (7.1) Let $f \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$. Then f is starlike of order δ , ($0 \leq \delta < p$) in the disc $|z| < r_1$, where

$$r_1(\beta, \sigma, p, k, \alpha, \mu, \lambda) = \inf_k \left\{ \frac{(p-\delta) \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^\sigma k [\lambda(k+p) - \beta((k-1) + (\lambda - \alpha))]}{(k-\delta) \beta p((p+1) - (\lambda - \alpha))} \right\}^{\frac{1}{k+p}}, \tag{7.1}$$

Proof:-It is sufficient to show that

$$\left| \frac{zf'(z)}{f(z)} + p \right| \leq p - \delta, \quad (0 < p < \delta),$$

for $|z| < r_1(\beta, \sigma, p, k, \alpha, \mu, \lambda)$.

We have

$$\begin{aligned} \left| \frac{zf'(z)}{f(z)} + p \right| &= \left| \frac{-pz^{-p} + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^\sigma a_k k z^k}{z^{-p} + \left(\frac{1}{k+p+1}\right)^\sigma a_k z^k} + p \right| = \left| \frac{z^{-p}(-p + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^\sigma a_k k z^{k+p})}{z^{-p}(1 + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^\sigma a_k z^{k+p})} + p \right| \\ &= \left| \frac{-p + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^\sigma a_k k z^{k+p} + p + p \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^\sigma a_k z^{k+p}}{1 + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^\sigma a_k z^{k+p}} \right| \end{aligned}$$

$$\leq \frac{\sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k z^{k+p} (k+p)}{1 + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k z^{k+p}} \leq p - \delta.$$

If

$$\frac{\sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k z^{k+p} (k-\delta)}{p-\delta} \leq 1. \tag{7.2}$$

Hence, by Theorem (2.1), (7.2) will be true if

$$\frac{(k-\delta)}{p-\delta} |z|^{k+p} \leq \frac{\left(\frac{1}{k+p+1}\right)^{\sigma} k (\lambda(k+p) - \beta((k-1) + (\lambda-\alpha)))}{\beta p((p+1) - (\lambda-\alpha))},$$

and hence,

$$|z| \leq \left\{ \frac{(p-\delta) \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda-\alpha))]}{(k-\delta) \beta p((p+1) - (\lambda-\alpha))} \right\}^{\frac{1}{k+p}}$$

The proof is complete.

8. Radius of Convexity

Theorem (8.1) If $f(z) \in r_2(\beta, \sigma, p, k, \alpha, \mu, \lambda)$. Then $f(z)$ is p -valent convex of order $\delta, (0 \leq \delta < p)$ in the disc $|z| < r_2$, where

$$r_2(\beta, \sigma, p, k, \alpha, \mu, \lambda) = \inf_k \left\{ \frac{p(p-\delta) \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda-\alpha))]}{k(k+\delta) \beta p((p+1) - (\lambda-\alpha))} \right\}^{\frac{1}{k+p}}, \tag{8.1}$$

Proof:-It is sufficient to show that

$$\left| 1 + \frac{zf''(z)}{f'(z)} + p \right| \leq p - \delta, \quad (0 \leq \delta < p)$$

for $|z| < r_2(\beta, \sigma, p, k, \alpha, \mu, \lambda)$.

We have

$$\begin{aligned} \left| 1 + \frac{zf''(z)}{f'(z)} + p \right| &= \left| \frac{p(p+1)z^{-p-1} + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k k(k-1)z^{k-1}}{-pz^{-p-1} + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k kz^{k-1}} + (1+p) \right| \\ &= \left| \frac{z^{-p-1} [p(p+1) + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k k(k-1)z^{k+p}]}{z^{-p-1} [-p + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k kz^{k+p}]} + (1+p) \right| \\ &= \left| \frac{[p(p+1) + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k k(k-1)z^{k+p}] - p(p+1) + (p+1) \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k kz^{k+p}}{-p + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k kz^{k+p}} \right| \\ &= \left| \frac{\sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k k(k+p)z^{k+p}}{-p + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k kz^{k+p}} \right| \end{aligned}$$

$$\leq \frac{\sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k k(k+p) |z|^{k+p}}{-p + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k k |z|^{k+p}} \leq p - \delta.$$

If

$$\frac{\sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k k(k+\delta) |z|^{k+p}}{p(p-\delta)} \leq 1. \tag{8.2}$$

Hence, by Theorem (2.3), (6.2) will be true if

$$\frac{k(k+\delta)}{p(p-\delta)} |z|^{k+p} \leq \frac{\left(\frac{1}{k+p+1}\right)^{\sigma} k (\lambda(k+p) - \beta((k-1) + (\lambda-\alpha)))}{\beta p((p+1) - (\lambda-\alpha))},$$

and hence,

$$|z| \leq \left\{ \frac{p(p-\delta) \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda-\alpha))]}{k(k+\delta) \beta p((p+1) - (\lambda-\alpha))} \right\}^{\frac{1}{k+p}}$$

The proof is complete.

9. Hadamard Product

Theorem (9.1) Let $f, g \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$. Then $f * g \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$ for

$$f(z) = z^{-p} + \sum_{k=n+1}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k z^k, \quad g(z) = z^{-1} + \sum_{k=n+1}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} b_k z^k$$

and

$$(f * g)(z) = z^{-p} + \sum_{k=n+1}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} a_k b_k z^k,$$

where

$$\delta = \frac{\beta^2 p((p+1) - (\lambda-\alpha))(k\lambda(k+p))}{\beta^2 p((p+1) - (\lambda-\alpha))((k-1) + (\lambda-\alpha)) + \sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda-\alpha))]^2}$$

Proof: Since f and g are in the class $\zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$, then

$$\frac{\sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda-\alpha))] a_k}{\beta p((p+1) - (\lambda-\alpha))} \leq 1, \tag{9.1}$$

and

$$\frac{\sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda-\alpha))] b_k}{\beta p((p+1) - (\lambda-\alpha))} \leq 1. \tag{9.2}$$

We have to find the largest δ such that

$$\frac{\sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda-\alpha))]}{\beta p((p+1) - (\lambda-\alpha))} a_k b_k \leq 1. \tag{9.3}$$

By Cauchy-Schwarz inequality, we get

$$\frac{\sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda-\alpha))]}{\beta p((p+1) - (\lambda-\alpha))} \sqrt{a_k b_k} \leq 1. \tag{9.4}$$

We want only to show that

$$\frac{\sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda - \alpha))]}{\beta p((p+1) - (\lambda - \alpha))} a_k b_k \leq \frac{\sum_{k=p}^{\infty} \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda - \alpha))]}{\beta p((p+1) - (\lambda - \alpha))} \sqrt{a_k b_k}.$$

This equivalently to

$$\sqrt{a_k b_k} \leq \frac{\delta [k(\lambda(k+p)) - \beta((k-1) + (\lambda - \alpha))]}{\beta [k(\lambda(k+p)) - \delta((k-1) + (\lambda - \alpha))]} \tag{9.5}$$

From (9.4), we get

$$\sqrt{a_k b_k} \leq \frac{\beta p((p+1) - (\lambda - \alpha))}{\left(\frac{1}{k+p+1}\right)^{\sigma} k(\lambda(k+p) - \beta((k-1) + (\lambda - \alpha)))} \tag{9.6}$$

Thus it is enough to show that

$$\frac{\beta p((p+1) - (\lambda - \alpha))}{\left(\frac{1}{k+p+1}\right)^{\sigma} k(\lambda(k+p) - \beta((k-1) + (\lambda - \alpha)))} \leq \frac{\delta [k(\lambda(k+p)) - \beta((k-1) + (\lambda - \alpha))]}{\beta [k(\lambda(k+p)) - \delta((k-1) + (\lambda - \alpha))]}$$

which simplifies to

$$\delta = \frac{\beta^2 p^2 ((p+1) - (\lambda - \alpha)) (k\lambda(k+p))}{\beta^2 p^2 ((p+1) - (\lambda - \alpha)) ((k-1) + (\lambda - \alpha)) + \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda - \alpha))]^2}$$

The proof is complete.

Theorem (10.1) Let the function $f_j (j = 1,2)$ defined by $f_j(z) = z^{-p} + \sum_{k=n+1}^{\infty} a_{k,j} z^k, (a_{k,j} \geq 0, j = 1,2)$ be in the class $\zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$. Then the function h defined by

$$h(z) = z^{-p} + \sum_{k=p}^{\infty} (a_{k,1}^2 + a_{k,2}^2) z^k, \tag{10.1}$$

belongs to the $\zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$ where

$$\eta = \frac{\beta^2 p^2 ((p+1) - (\lambda - \alpha)) (k\lambda(k+p))}{\beta^2 p^2 ((p+1) - (\lambda - \alpha)) ((k-1) + (\lambda - \alpha)) + \left(\frac{1}{k+p+1}\right)^{\sigma} k [\lambda(k+p) - \beta((k-1) + (\lambda - \alpha))]^2}$$

Proof:-Note that

$$\sum_{k=p}^{\infty} \left[\frac{\left(\frac{1}{k+p+1}\right)^{\sigma} k (\lambda(k+p) - \beta((k-1) + (\lambda - \alpha)))}{\beta p((p+1) - (\lambda - \alpha))} \right]^2 a_{k,j}^2 \leq \left[\sum_{k=p}^{\infty} \frac{\left(\frac{1}{k+p+1}\right)^{\sigma} k (\lambda(k+p) - \beta((k-1) + (\lambda - \alpha)))}{\beta p((p+1) - (\lambda - \alpha))} a_{k,j} \right]^2 \leq 1 \cdot (j = 1,2) \tag{10.2}$$

For $f_j \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$, we have

$$\sum_{k=p}^{\infty} \frac{1}{2} \left(\frac{\left(\frac{1}{k+p+1}\right)^{\sigma} k (\lambda(k+p) - \beta((k-1) + (\lambda - \alpha)))}{\beta p((p+1) - (\lambda - \alpha))} \right)^2 (a_{k,1}^2 + a_{k,2}^2) \leq 1. \tag{10.3}$$

In order to obtain our result we have to find the largest η such that

$$\frac{\left(\frac{1}{k+p+1}\right)^{\sigma} k (\lambda(k+p) - \eta((k-1) + (\lambda - \alpha)))}{\eta} \leq \frac{\left(\frac{1}{k+p+1}\right)^{\sigma} k (\lambda(k+p) - \beta((k-1) + (\lambda - \alpha)))}{\beta^2 p^2 ((p+1) - (\lambda - \alpha))}. \quad (k \geq p)$$

So that

$$\eta = \frac{\beta^2 p^2 ((p+1) - (\lambda - \alpha))(k\lambda(k+p))}{\beta^2 p^2 ((p+1) - (\lambda - \alpha))((k-1) + (\lambda - \alpha)) + \left(\frac{1}{k+p+1}\right)^\sigma k [\lambda(k+p) - \beta((k-1) + (\lambda - \alpha))]^2}$$

The proof is complete.

10. Integral Operator

Theorem (11.1) If f be in the class $\zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$. Then the integral operator

$$F(z) = c \int_0^1 u^c f(uz) du, \quad (0 < u \leq 1, 0 < c < \infty), \tag{11.1}$$

is in the class $\zeta\left(\alpha, \mu, \lambda, \frac{1+\beta c}{2+c}\right)$.

The result is sharp for the function

$$f_k(z) = z^{-p} + \frac{\left(\frac{1+\beta c}{2+c}\right) p((p+1) - (\lambda - \alpha))}{k(\lambda(k+p) - \left(\frac{1+\beta c}{2+c}\right)((k-1) + ((\lambda - \alpha)(\lambda - \alpha)))} z^k.$$

Proof:-By definition of F , we get

$$\begin{aligned} F(z) &= c \int_0^1 u^c f(uz) du \\ &= c \int_0^1 \left(u^{c-1} z^{-p} + \sum_{k=p}^{\infty} a_k u^{k+c} z^k \right) du \\ &= z^{-p} + \sum_{k=p}^{\infty} \frac{c}{k+c+1} a_k z^k. \end{aligned} \tag{11.2}$$

By Theorem (2.1), It is sufficient to show that

$$\sum_{k=p+1}^{\infty} \frac{c \left(\frac{1}{k+p+1}\right)^\sigma k \left(\lambda(k+p) - \left(\frac{1+\beta c}{2+c}\right)((k-1) + (\lambda - \alpha))\right)}{(c+k+1) \left(\frac{1+\beta c}{2+c}\right) p((p+1) - (\lambda - \alpha))} \tag{11.3}$$

Since, if $f \in \zeta(\beta, \sigma, p, k, \alpha, \mu, \lambda)$, then (10.1) satisfies if

$$\frac{c}{(c+k+1) \left(\frac{1+\beta c}{2+c}\right) p((p+1) - (\lambda - \alpha))} \leq \frac{1}{\beta p((p+1) - (\lambda - \alpha))}.$$

Oe equivalently, when

$$\phi(k, c, \beta) = \frac{c \beta p((p+1) - (\lambda - \alpha))}{(c+k+1) \left(\frac{1+\beta c}{2+c}\right) p((p+1) - (\lambda - \alpha))} \leq 1.$$

Since $\phi(k, c, \beta)$ is a decreasing function of k , and the result is sharp for

$$f_k(z) = z^{-p} + \frac{\left(\frac{1+\beta c}{2+c}\right) p((p+1) - (\lambda - \alpha))}{k(\lambda(k+p) - \left(\frac{1+\beta c}{2+c}\right)((k-1) + ((\lambda - \alpha)(\lambda - \alpha)))} z^k.$$

The proof is complete.

REFERENCES

- [1] O. Altintas and H. Irmak and H. M. Srivastava, A family of meromorphically univalent functions with positive coefficients, *panamer. Math. J.*5(1)(1995)75-81.
- [2] M. K. Aouf and A. E. Shammaky, A certain subclass of meromorphically p-valent convex functions with negative coefficients, *G.Approx. Theory Appl.* 1(2)(2005), 123-143.
- [3] W. G. Atshan and S. R. Kulkarni, Some applications of generalized Ruscheweyh derivatives involving a general fractional derivative operator to class of analytic function with negative coefficients, ISSN 1842-6298(electronic), 1843-7265 (print) volume 5(2010),35-47.
- [4] W. G. Atshan and R. H. Buti, Fractional calculus of class of univalent function with negative coefficient defined by Hadamard Product with Rafid operator, *European Pure Appl. Math.* 4(2) (20110),162_173.
- [5] N. E. Cho, S. H. Lee and S. Owa, A class of meromorphic univalent functions with positive coefficients, *Koebe J. Math.* , 4(1987). 43-50.
- [6] A. W. Goodman, Univalent functions and non-analytic curves, *Proc. Amer. Math. Soc.* ,8 (1975), 598-601.
- [7] S. B. Joshi, A. R. Kulkarni and H. M. Srivastava, Certain classes of meromorphic function with positive coefficient, *J. Math. Anal. Appl.* 193(1995)(1-14).
- [8] J. Liu, Properties of some families of meromorphic p-valent functions, *Math. Japonica* 52(2000)425-434.
- [9] H. M. Srivastava and S. Owa (Eds.), *Current Topics In Analytic Function Theory*, World Scientific Publishing Company, Singapore, 1992.
- [10] A. B. Uralegaddi and M. D. Ganigi, A certain class of meromorphically starlike functions with positive coefficients, *Pure Appl. Math. Sci*, 26(1987), 75-81.